
(1994-1997)

Art.Nr. 650158 01 01 schwarz
Inhalt:
1 700002332 Gepäckbrücke
2 700002333 Befestigungsstrebe (links + rechts)
1 700013336 Befestigungslasche links
1 700013337 Befestigungslasche rechts
1 700002336 Schraubensatz:

2 Sechskantschrauben M8x40
2 Sechskantschrauben M6x16
2 Sechskantschrauben M6x20
2 Selbstsichernde Muttern M6
6 U-Scheiben 6,4mm
6 Kunststoffkappen M6


